~ AP Stats Ch 23 - Required Practice Name: SoluTionS Per:

#1. Speed Limit - The speeds of cars on a small road with a speed limit of 30 29 29 24
mph were monitored. The following speeds were observed:

| 34 32 36
(a) Use a hypothesis test to determine whether or not the average speed of all

vehicles on this road exceeds the speed limit. 28 31 31
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(b) Use this sample to build a 90% confidence interval for the mean ‘peed of all vehicles traveling on the
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#1 again (this time using t instead of z). |
Speed Limit - The speeds of cars on a small road with a speed limit of 30 mph 29 23 24
were monitored. The follqwmg speeds were observed: 34 32 36
(a) Use a hypothesis test to determine whether or not the average speed of all

. . .. 28 31 31
vehicles on this road exceeds the speed limit. :

Ho ol M= 30 At ﬁ(/yeevi dloes Ast-exceed Bre liaid | | 27 Lo
7. fami? o o | varstts
oo pt 730 A4y Yassd exceeds e o e
Cord i . g B4R

I RISV TR

“= SRS (no A%W«M”ﬁwma Gire. ewgsf*@-ﬂ&ﬁr@aw“)
o — 10 & otout all Carr om A ;1 roq o

=~ Negely Norwnl . . Mol Pobbitely H it
r"'[‘—'! : VV_.,v". .
osCihle skewd - but . Cﬁfﬁ’?
P %I’m«w %«;ﬁft J ) }7 " Hoﬂ
T
%???’:' ﬁ" @ﬁb TMM q T—sest
*(?LE:’V"" | = /9’[/7 o VJ;’A";) . 4;‘}—-.\ ". Ll
[ ' I - . Ve =30
b)' % Y_..-Zf? T = 09 Pt

—Val e '5 M 4
(46101 = 1)
. eePt .
WHR of =05, p-ualve = ‘l&%’ P /137‘ So e il ~fo o #[“J“_
P torfssfreal evicknia.. 4o cont )
we J@a At bernsre S’wﬁ*‘rwwa‘f SHarticfres. e g;/.w%f f,mwgi.a
Mg LY ?Mﬂﬂo@ ot a ] cars per “TAX rioasd Cleed _

p(4,> om) 'ltwt-@[ 0905, ?;Z q) = 618 Lt owr

(b) Use this sample to build a 90% confidence 1nterval for the mean speed of all vehicles traveling on the
road and interpret your interval.
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indicated that these tires will provide better gas mileage
and Jonger treadlife. The last remaining test is for brak-
ing effectiveness. The company hopes the tire will allow
a car traveling at 60 mph to come to a complete stop
within an average of 125 feet after the brakes are ap-
. plied. They will adopt the new tread pattern unless there
is strong evidence that the tires do not meet this objec-
tive. The distances (in feet) for 10 stops on a test track
were 129, 128, 130, 132, 135, 123, 102, 125, 128, and 130,
Should the company adapt the new tread pattern? Test
an appropriate hypothesis and state your conclusion. Ex-
plain how you dealt with the outlier, and why you made
the recommendation you did.
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Chapter 23 Practice Quiz
AP Statistics Quiz C ~ Chapter 23 Name

Textbook authors must be careful that the reading level of their book is appropriate for the target
audience. Some methods of assessing reading level require estimating the average word length.
We’ve randomly chosen 20 words from a randomly selected page in Stats: Modelmg the World
and counted the number of letters in each word:

5,5,2,11,1,5,3,8,5,4,7,2,9,4,8,10,4,5,6,6
1. Suppose that our editor was hoping that the book would have a mean word length of 6.5 letters.

Does this sample indicate that the authors failed to meet this goal? Test an appropriate
hypothesis and state your concluswn
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2, For a more definitive evaluation of reading level the editor wants to estimate the text’s mean
word length to within 0.5 letters with 98% confidence. How many randomly selected words
, doca, she need to use? Juerdtorti | 5= 24852
WZZ’ /é ’Q 9 a8, ME = /’3’

- 2363
A= (Z ésf)r)fztgzé})

— (2 mﬁﬁﬁéﬁ

(n = = .
(ﬂ"fﬁ&ww § = [54.,077 /';’;;wff/
W .

oot &tt—wwrwmn-nan-qwr -y .
-5

A\

e

»



